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Note: Answers may be written either in English or
in Hindi; but the same medium should be
used throughout the paper.
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Attempt all questions.

The Marks for cach question are indicated

at the end of the question.
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Discuss the different components of GDP in
an economy.

_Explain Tobin’s Portfolio theory of demand

for money.

e ®§ G.DP. % fu= wewl &t fadwe
HifeT |

1 & fow Him & dfem ewifaar fagr @
SRAT HIAT | '

OR / Freay

Show that a competitive, profit maximizing
firm demands each factor of production till
the factor’s marginal product equals its real
factor price.

Explain that the supply of money depends
on the monetary base and the money
muitiplier.
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The following equations have been estimated for
an economy :

C= 10+ 0.8 y, where C stands for consumption
and y, for disposable income.

T= 025 y where T stands for tax and y for
income. *

G= 250 where G stands for government
expenditure.

I= 300 = 25 ; where I stands for Investment
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and 1 for interest rate.
TR =50 where TR stands for Transfer Payments.

L= 0.4 y-25i where L stands for demand of
real balances. '

M= 1200 where M stands for nominal money
supply.

P = 3 where P stands for the price level.

Find :

(i) The equilibrium level of income and the
interest rate. , 6

(i) What would be the shift in the IS curve if
government spending were to increase by
50, and how much of investment would be
crowded out as a result of this increase in
government spending ? 6

(iif) If the increase in government spending of
50 were to be accompanied by an increase
in nominal money supply of 150, how much
investment would be crowded out ? 3
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The following equations describe an economy :

C= 100 + 08 y, where C stands for
consumption and y, for disposable income.

T= 025 y where T stands for Tax and y for
Income.

G= 850 where G stands for .government-
expenditure. '

I= 750 — 50 i where I stands for Investment
and 1 for rate of interest.

L= 0.2 y-25iwhere L stands for the demand

of real balances. .

%= 500 where M stands for nominal money
supply and P for the price level.

Calculate :

(a) = The equilibrium levels of income and the
rate of interest. What would be the budget
surplus comresponding to fthis level of
income ? 8

(b) With the help of the multiplier, find the
change jin equilibrium income if the
government expenditure increases by 100. 4

(c) How much increase in money supplied is
rc:quirecl1 to increase the equilibrium income
by 2507 3
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Derive the aggregate demand curve using
IS — LM model.

Explain the effect of an expansionary
monetary policy on the equilibrium level of
income and rate of interest.
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Discuss the expectations augmented short run
aggregate supply curve and the verticdl long run

aggregate supply curve.

mwnuaﬁamaﬂ:mgﬁwakmﬁaﬁaﬁr |
T G wt e #ia |

(a)

(b)

(a)
(b)

Explain, briefly with diagrams, the two
alternative strategies of monetary policy to
control inflation.

Explain & derive the dynamic aggregate
demand curve.
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Briefly discuss the social cost of inflation.

Explain the Phillips curve and the
Expectations Augmented Phillips curve.
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Assuming a small open economy with perfect
capital mobility, derive the IS* (goods market)
and the LM* (money market) curves and show
how exchange rate is determined in the Mundell
Fleming model. Explain the impact of a fiscal
expansion in this economy under floating

exchange rate. 10,5
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Explain how an increase in Investment demand
and a reduction in net capital outflow affect the
real exchange rate and net exports in a large open
economy.
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